Efficiency vs Dxy(PV)
S 0.2
o
0.18
S
»0.16
>
20.14
5]
'50.12
g
® 0.

0.08

0.06

0.04

0.02

0.

0 5 10 15 20 25
TP dxy(PV) (cm)

5 =36-15-10 —5

[—=— DQM_MKFIT6_TThew-Towpt

—e— DQM_mkFit_TT_NEWdefault_specPLess1-lowpt
—— DQM_mkFit_TT_NEWdefault_specPLess2-lowpt
—— DQM_mkFit_TT_NEWdefault_specPLess3-lowpt

I Efficienc] —— DQM_mkFit_TT_NEWdefault_specPLess4-lowpt

0.8

0.7

0.6

0.5]

efficiency vs dxy(PV)

0.4

0.3]

0.2]

Ratio

-1-0.8-0.6-0.4-0.2 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5

efficiency vs dz(PV)

0.4

0.3]

0.2]

Rt MR 1 Col B

1.0

Ratio

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

efficiency vs dz(PV)

(LS SERIRS £ RRE SPPPPRRF IRPPPRPRIPPRY S P8

0.4]

0.3]

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


